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EhI K 4 T B 2E KE B E
1 Wl FE TANRT 4F N2 1/ 4 54. 65 2% ( 0.66)
2 K #EJY TANRT 44 N2 1/ 5 58.08 ( 0.76)
3 HEE A TANRT 4 A N2 1/ 3 1:05. 02 ( 0.60)
4 ) ] BEED /I~ 1/ 6 1:14.56 ( 0.64)
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Bf. K 4 & 2E KB BF fE
1 Kigp BEF KSCTH /N2 1/ 4 46. 16 T#% ( 0.57)
2 B BEX J—XAC 7IN2 1/ 5 50. 09 5%% ( 0.85)
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Bf. K 4 & 2E KB BF fE
1 il A& T 2T 4 A /M 2/ 4 42. 11 5#% ( 0.60)
2 KA BE KSCTH /N4 2/ 6 45. 43 5#% (0. 86)
3 HH Foak TANRT 4 A N3 2/ 5 46. 46 *T8 7#% ( 0.86)
4 (WO ERZR KSCgER)I /M 2/ 3 47.15 4%% ( 1.10)
5 b HE: KSCTH /N3 1/ 4 48. 30 3% (0.81)
6 My HsE KSC#%F+~X /M 1/ 5 49. 01 3% ( 0.61)
7 R EE J—XAC N2/ T 51.58 L%k ( 0.61)
8 Iy FzE T AT 44 M 2/ 2 51.73 ( 0.64)
9 Kk %u)b KSCHF~X /)3 1/ 6 57.24 *F# ( 0.73)
10 b BEHE T AT A /N3 1/ 7 58.12 ( 0.67)
11 I #EA H#EF S C /N3 2/ 1 1:00. 16 ( 0.77)
12 ZR N FHe1- TANRT 4 A /N3 1/ 3 1:08.00 *T& ( 0.86)
RIS i KSC#F~X /4 1/ 2 1:31.26 (0.71)
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B K 4 T & 2E KK BF
1 FAMR 1R TANRT 4 A M 1/ 4 45. 44 2#8% ( 0.58)
2 T2 A J—XAC /N4 1/ 5 47. 68 Ik (0.71)
3 A e KSC#%F~X /M 1/ 3 53. 42 ( 1.08)
4 M5 K FAECF S C ! 1/ 6 1:15. 44 ( 0.90)
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Bf. K 4 & 2E KB BF fE
1 PR EF T KSCTH NG 2/ 4 35. 64 8f% ( 0.70)
2 M mess TZANRT 4 A N6 2/ 5 37.84 65% ( 0.67)
3 KIFFKE A 43 KSCTH /NG 2/ 6 39. 61 6% ( 0.62)
4 JEE B HEFSC NG 2/ 3 40. 33 5%% ( 0.61)
5 JIIH AL J—ZXAC /NG 2/ 2 43.92 2#8% ( 0.84)
6 ME &K BEED /NG 1/ 4 45.79 2%% ( 1.09)
7 V8 EF]H J—XAC NG 1/ 6 52.42 *FH) ( 0.82)
8 HHER e T AT A N 1/ 3 53.04 *TF# ( 0.61)
9 MAR SEfH HHFSC NS 1/ 2 1:05.99 ( 0.78)
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B & £ i & 2E KK B FH
1 NH =g HEEF S C NG 2/ 4 38.96 5#% ( 0.59)
2 bR B BBEY /NG 2/ 5 41.72 5%% ( 0.66)
3 dIl A HEF S C N6 2/ 3 43. 33 1#% ( 0.49)
4 W E RS KSCHF~X /)6 2/ 6 43. 74 #% ( 0.73)
5 g% IR HEF S C /NG 1/ 4 46. 82 2% (0.64)
6 Kb JEH KSCERJII /5 1/ 3 52.74 ( 0.64)
7 EI (£ BRLEY /N5 1/ 6 53.56 *T:@h ( 0.54)

No.52 ZF 50m &Eik=z BALL—R R AR 31.83

LK DIGNL—T >

B K £ T & FE KK B FH
1 (P EE J—ZXAC o 2/ 4 35.07 6% ( 0.60)
2 A KSCTH ==h] 2/ 5 35.75 Tk ( 0.69)
3 = FERZET KOJAK 1 2/ 3 38. 32 4% ( 0.70)
4 HE EE KSCTH 3 2/ 2 39. 40 2%% ( 0.70)
5 P B J—XAC 3 1/ 4 40. 01 1% (0.79)
6 THEPHAE J—XAC 2 2/ 6 40. 12 2#% ( 0.62)
7 B PSPSRl] 1 1/ 2 40. 55 3% ( 0.80)
8 i Rk KSCTH M1 1/ 6 40. 59 3% ( 0.80)
9 [ < HEF S C 1 1/ 5 41.52 2% ( 0.74)
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BRI K 4 ir & BE KK B FH
1 /N R B HEF S C 3 2/ 4 30. 24 8% ( 0.67)
2 ZRli L& TANRT A H2 2/ 6 32. 36 %% ( 0.60)
3 ANJT A HWERF S C 1 2/ 2 34.63 % ( 0.62)
3 HH 72 KSCTH =oh] 2/ 3 34. 63 T#% ( 0.69)
5 & HEAACOKER TANT 4 A 2 2/ 5 35.99 4#% ( 0.61)
6 [m PR KSCERJII 1 2/ 7 37.44 4% ( 0.65)
7 HREP BRI KSCER/I 1 2/ 1 37.84 4% (0. 64)
8 {JIl £ HEFSC M2 1/ 4 42. 11 ( 0.69)
9 HE oG HEF S C 1 1/ 6 43.02 ( 0.63)
10 4 A iEME}) HHEFE S C i 1/ 2 43. 49 ( 0.74)
11 FHHE #K KSCgE=R)II 1 1/ 1 43. 91 ( 0.67)
12 /NPE S H#EF S C oh| 1/ 7 50. 52 ( 0.72)
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1 /BR RE TANT 4 A &2 1/ 4 34.35 6% ( 0.54)
2 g T AT 4 F El 1/ 5 37. 01 3% ( 0.57)
3 /INIFDY KSCT+H = 1/ 3 49. 31 ( 0.65)
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1 & KHE FHE S C = 1/ 5 35. 91 L% ( 0.56)
2 AR Ft THE S C = 1/ 4 36. 63 L% ( 0.78)
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